CHEM-GRAM PUZZLE No.

15

(Clues below marked with a * pertain to this unit of work.)

DIRECTIONS

In order to solve this puzzle
you have to fill in the letters
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of as many words as you can 19 Llzo kl21 sjz2 V23 Qleh

in the spaces alongside the
clues given below. When you
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have written in a word over
the dashes, each letter is then
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moved to the box on the right
which has the corresponding
number and the clue’s letter.
When all the boxes have let-
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ters, you will have a complete 7 v
scientific statement, principle,

taw or theory. The filled-in
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boxes indicate the ends of 89 L
words; if there is no such box

at the end of a line, the word

continues on the next line. A06 %

Guessing missing letters of
incomplete words in the boxes

will provide additional. clues 122 R|123 S

for unsolved words below.
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ANAGRAM DIRECTIONS. The numbers given here are for the solution
letters {not the ciue letters) in these numbered boxes. These letters form an
anagram {a scrambled word or words) which, when unscrambled, gives
either a title descriptive of the scientific statement or the name of the
scientist responsible for it.

ANAGRAM NUMBERS
ANAGRAM LETTERS
ANAGRAM SOLUTION

CLUES

%(A) NHaCl DONA YD eevesasesrasennssescscorsscssnocasssssrcscnnsonne
T ™ W B

(B) Building blocks FfOT DOLYMETS scseessesesssessoscsssscrssccsssacs
T mE T O3 T ;S

#(C) Number of atoms in 3(NH]+)2(303 PR =T S
TCTHp R T T W 3

*(D) CasOy, CO, and CH30H
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(E) Acid whose anhydride 15 NOp ecesesecscsscassesscscccsossssorscce
T w W W 5 1w

(F) Indicator turned red bY (E) .eeeeseccsescvacsacnsacesrocnssscces
U3 1% T OTH TH 63

*(() Hydrogen 10034€ seeseessescacoceuscssoroassossssasoscsresssssnnce
.

(8) Gram weight of 1/2 mole of carbon MONOXIAE ...eeessescssvessocss
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(I) Galactose and MALLOSE eessscsssscresssessecscaoanvacsonssrsasoes
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#(J)  (MH,) JHPO) sevssesenesensreransenmcsssensaraeonosasncaransecses
R

(K) Compounds with the formula (06}5005);:

g B % Tz ;L 8 1oL T

51 - 76 - 98 ~ 108 - 115 - 137 - 143

*(L)

*(1)

()

(0)

*(P)

*(Q)

(®)

*(8)

*(T)

(v)

#(V)

-2

003 e eenesssasaesesaseneresenrstbssanssooatosanssenaosereraos

3 % T/ 1% P[P & T E I

Number of valence electrons iN XENON .eecevscvescocsssscscsssosoans
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Electronegativities of F, O, and Cl ..vevevencscrecccccsscrnons
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WOLELYAM seescsoosessssosscoocesacesnorssnsvosssssssnsvrosccrcovscs
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C3H8+6H20——)3002+?H2 ST S SR SR SR s e .
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CoCl2 or CoCl3 R R R L]
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Symbol of highest ionization potential .ocvieveicivciencienorcenns

T om
Covalent bond with only one dONOT seeeesvsovssescsrasrsscocsvses

senes
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Bismuth 0XyioQide cevseeervesossvossreascensosccsrearcocascosane
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Atoms with 5-7 valence €lectTONS sseevsveveereseccecrcacssrscsas
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